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Model Test 8

Part | Listening Comprehension (20 minutes)
Section A
Directions: In this section, you will hear 10 short conversations. At the end qf&t‘aach conversation , a question will
be asked about what was said. Both the conversation and the question will be spoken only once. After
each question there will be a pause. During the pause, you must read the four choices marked A), B) ,
C) and D), and decide which is the best answer. Then mark the corresponding letter on the Answer
Sheet with a single line through the center .
Example: You will hear:
You will read; ~
A) At the office.
B) In the waiting room.
C) At the airport.
D) In a restaurant.

From the conversation we know that the two were talking about some work they have to finish in the evening .
This is most likely to have taken place at the office. Therefore, A) “At the office” is the best answer. You should
choose [ A] on the Answer Sheet and mark it with a single line through the center . )

Sample Answer  [#-] [B] [C] [D]

1. A) He’s surprised she chose that agency. B) He wonders why she’s kept her job.
C) He doesn’t know when her classes started. D) He doubts she makes much money now.
2. A) Some people sometimes. B) Nobody. C) Everybody. D) Same people all the time.
3. A) By bus. B) By subway. C) By taxi. D) In their own car.
4. A) Mr. Davis. B) Mr. Ward. C) Mr. Davis’ secretary. D) Mr. Thomas.
5. A) By December thirtieth. B) By December third. .
C) By New Year’s Day D) By December thirteenth.

6. A) The man should handle the worst things first.
B) Things may not be as bad as they seem.
C) Unfortunate events often happen at the same time.
D) Going to the dentist probably will not do any good.
7. A) She had disliked novels until she went to college.
B) She would rather read novels than history books.
C) She enjoyed the class even though the teacher was poor.
D) Her study of literature spoiled her enjoyment of novels.

8. A)S. B) 8. C) 11. D) 14.
9. A) At a hairdresser’s. B) At a butcher’s. C) At a tailor’s. D) At a photographer’s.
10. A) He would send a postcard if he went away. B) He wouldn’t be able to take a vacation.

C) He had already gone back to work. D) He didn’t want to go to Florida.

Section B Compound Dictation

Directions ; In this section you will hear a passage three times. During the first reading , you should listen carefully
for a general idea of the whole passage. Then listen to the passage again. When the first part of the
passage is being read , you should fill in the missing word during the pause at each blank . After listen-
ing to the second part of the passage ou are requived fo write down the main points according to what
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wu have just heard. Finally, when the passage is read the third time you can check what you have

written .
Social life in America (S1) tremendously from office to office. Big (S2) may have
(S3) , sports, teams, trips, ($4) __, classes, or other (S5) activities which you

can (S6) or not as you like, while small (S7) usually can’t (S8) these activi-
ties.
In general, people go to lunch with each other by invitation when they feei like it. Usually people of higher

ranks would invite those of lower ranks rather than the other way around. (9)

. It’s social customs.

It is quite acceptable for men and women colleagues, single or married, to go out together for lunch. This may

be the extent to which your office friends will invite you. (S10)

. If this is the case in your place of work, you will have 1o seek your

friendship through other channels.

Part I Reading Comprehension ~ (35 minutes)
Directions; There are 4 passages in this part . Each passage is followed by some questions or un finished statements .
For each of them there are four choices marked A), B), C) and D). You should decide on the best

choice and mark the corresponding letter on the Answer Sheet with a single line through the centre.

Questions 11 to 15 are based on the following passage:

Under the 1944 act, primary and secondary education became 2 local responsibility. Local Education Authorities
(LEAs) employ the teachers and are the major providers of education. In addition, a few schools are rin by volun-
tary bodies, mostly religious. There is also a small private sector.

Primary education is free and compulsory from age 5 to 11. Secondary education, which is organized in a variety
of ways, is provided by LEAs for children aged 11 10 193 it is free and compulsory to age 16 (the minimum leaving
age being raised from 15 in 1972). Teacher employed by the LEAs are paid on an agreed national scale. Primary and
secondary education is financed almost entirely by the state out of central and local tax revenues.

Under the 1944 act children were examined at age 11 (the so-called eleven plus), on the basis of which they
were assigned either to grammar schools, which prepared them for higher education, or to secondary modern schools,
which they usually left at the minimum leaving age, often without having passed public examinations or having been
awarded a certificate. In 1964 the Labour government reorganized secondary education on comprehensive lines; that
is, each school accepted pupils of all abilities. The eleven plus was abolished in many areas, and the great majority of
children now go to comprehensive schools.

The education Reform Act of 1988 brought about substantial changes. Of its provisions for schools, five were
particularly important. It laid on the secretary ¢f state a duty to establish a national curriculum(ZR B X & ) , applica-
ble to all state schools; introduced a system by which individual schools controlled their own management and fi-
nance; and permitted schools to apply to get out of control by local authorities. In addition, schools were required not
overly to restrict numbers, and the Inner London Education Authority, which provided education in the inner Lon-
don boroughs, was abolished. .

11. The first paragraph tells the reader that in Britain, in accordance with the 1944 act,

A) the government no longer cared about the secondary and primary education

B) Scotland had to be responsible for its secondary and primary education

C) there were more schools run by voluntary religious organizations

D) private organizations and institutions could also run their own schools
12. Before 1972,

A) children under the age of 15 must go to school
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B) only children under 16 did not pay for their education
() children could choose not to receive secondary education
D) secondary education was not completely {ree
13. The eleven-plus examination was one that _____
A) tested the students on their grammar knowledge
B) prepared the students for higher education
C) prepared the students for secondary modern schools
D) placed children into different secondary schools
14. In 1964 in Britain, __

A) secondary modern schools were improved to include children of all abilities

o

B) primary education was adjusted to include children of all abilities
C) most children began to go into comprehensive schools after primary education
D) the eleven-plus examinations were declared illegal in most cities
15. The Inner London Education Authority was abolished for the reason that
A) it refused to carry out educational reform B) it limited school enrollment to a“certain district
C) it failed to follow the national curriculum D) it applied to get out of control by locel authorities

Questions 16 to 20 are based on the following passage:

Marshall Field’s, a department store in Chicago, has long used the motto; “Give the lady what she wants.”
Finding out what the customer wants is one of the problems marketing research tries to solve. Marketing research has
been defined as trying to analyze marketing problems scientifically. It studies people as buyers and sellers, examining
their habits, attitudes, preferences. dislikes, and purchasing power. It often studies specific groups of people, such
as teenagers, high-income groups, or senior citizens. Marketing research also investigates distribution systems, pric-
ing, promotion, product design, packaging, brand names, and almost every aspect of the seller-buyer relationship.

Marketing research is divided into number of sub-areas. Advertising research attempts to find out the effective-
ness of advertising. It also seeks to learn the best media for advertising specific products: television, newspapers, ra-
dio, magazines. billboards, and others. Market analysis tries to identify and measure markets for specific products
and to estimate sales potential. Markets may be differentiated by population groups or by geography. Some types of
clothing are more likely to sell in Florida and California than in the northern Midwest. Some cosmetics{ 4k & & ) will
appeal more 1o black customers than to white customers. Performance analysis helps a company learn how well it is
meeting its goals of sales and profits. Product research covers the whole area of new-product development. Marketing
research is an expensive undertaking, and its costs are built into the prices of products.

16. The distribution system aims to .

A) sell goods in markets B) deliver products to different places
C) analyze products D) produce and sell goods
17. As far as advertising is concerned, television
A) is the best medium for direct advertising B) is the best medium for indirect advertising
C) is a suitable medium only for certain goods 1D) is the quickest and cheapest means of advertising

18. Sweaters produced for and sold to young women are examples of market differentiation according to

A) age and education B) population group C) quality and size D) gender and occupation
19. Performance analysis and product analysis differ in that ____ .

A) the former aims 1o find out how a goal is met in a more efficient way

B) the former is to find out if the present performance is directed 1o the goal

C) the latter aims o find out how the present product is marketed

D) the latter aims to find out whether a product is being sold weil

20. According to the last paragraph, the cost of marketing research __
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A) is supplied by the producer and seller together

B) is met by increasing the price of the product

() is too expensive to be met only by the producer

D) is high but the price of the product should be kept low

Questions 21 to 25 are based on the following passage:

As the horizons of science have expanded, two main groups of scientists have emerged. One is the pure scien-
tist; the other, the applied scientist.

The pure or theoretical scientist does original research in order to und(;rstand the basic laws of nature that govern
our world. The applied scientist adapts this knowledge to practical problems. Neither is more important than the oth-
er, however, for the two groups are very much related.

Sometimes, however, the applied scientist finds the “problems” for the theoretical scientist to work on. Let’s
take a particular problem of the aircraft industry; heat-resistant metals. Many of the metals and alloys that perform
satisfactorily in car cannot be used in a jet-propelled( B HE#E A ) plane. New alloys must be used, because the jet
engine operates at a much higher temperature than an automobile engine. The turbine wheel( 8% )in a turbojet(#%
$em R & L) must withstand temperatures as high as 1, 600 degrees Fahrenheit, so air craft designers have to
turn to the research metallurgist for the development of metals and alloys that would do the job in jet-propelled
planes.

Dividing scientists into two groups — pure and applied — is only one broad way of classifying them, however.
When scientific knowledge was very limited, there was no need for men to specialize. Today, with the great body of
scientific knowledge, scientists specialize in many different fields. Within each field, there is even further subdivi-
sion. And, with finer and finer subdivisions, the varicus sciences have become more and more interrelated until no
one branch is entirely independent of the others. Many new specialties — geophysics and biochemistry, for example
— have resulted from combining the knowledge of two or more sciences.
21. The applied scientist _____.

A) does original research to understand the basic laws of nature

B) applies the results of research to practical problems

C) provides the basic knowledge for the pure scientist

D) is not interested in practical problems "

22. The example given in the third paragraph illustrates how

A) pure science operates independently of applied science

B) the applied scientist discovers the basic laws of nature

C) applied science defines all the areas in which basic research is done

D) applied science suggests problems for the basic scientist
23. Finer and finer subdivision in the field of science has resulted in

A) the loss of the need for specialists B) greater interdependence of each science

C) greater independence of each science D) the need for only one classification of scientists
24. Geophysics and biochemistry are

A) examples of new specialties resulting from combining sciences

B) totally dependent sciences

C) among the oldest sciences known to man

D) both B) and C)

25. “The horizons of science have expanded” (Para. 1) means that

A) scientists can see further out into space

B) science has developed more fields of human endeavor

C) the horizon changes size from vear 10 year
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D) scientists have made a machine for enlarging the horizon

Questions 26 to 30 are based on the following passage:

Friends play an important part in our lives, and although we may take the {riendship for granted, we often don’t
clearly understand how we make friends. While we get on well with only a number of people, we are usually friends
with only a very few. For example, the average among students is about 6 per person. In all the cases of friendly re-
lationships, two people like one another and enjoy being together, but beyond that, the degree of intimacy between
thern and the reasons for their shared interest vary enormously. As we get 1o know people we take into account things
like age, race, economic condition, social position, and intelligence. Although these ?actors are not of prime impor-
tance, it is more difficult to get on with people when there is a marked difference in age and background.

Some friendly relationships can be kept on argument and discussion, but it is usual for close friends to have simi-
lar ideas and beliefs, to have attitudes and interests in common - they often talk about “being on the same wave-
length”. It generally takes time to reach this point. And the more intimately involved people become, the more they
rely on one another. People want to do friends favors and hate to break a promise. Equally, friends have to learn to
put up with annoying habits and to tolerate differences of opinion. o

In contrast with marriage, there are no friendship ceremonies to strengthen the association between two people.
But the supporting and understanding of each other that results from shared experiences and emotions does seem to
create a powerful bond, which can overcome differences in background and break down barriers of age, class or race.
26. According to the author,

A) all those who get on well with each other are friends

B) friends are closer than people who just get on well with each other

C) everyone understands clearly how to make friends

D) every student has 6 friends
27. When we make friends, we consider such things as age, race, and background because

A) it is not easy to have a friendly relationship with people when there is a marked difference in age and background

B) the degree of friendship between people and the reason for their shared interests can vary greatly

C) friends need to know all these things

D) these are the most important factors to make friends
28. In Paragraph 2, “being on the same wavelength” means . "

A) using the same frequency while talking

B) keeping the same friendly relationship as other people do

C) having similar ideas, beliefs, attitudes and interests

D) having the same background
29. Which of the following is NOT implied or directly stated in the passage”

A) Even friends may have differences of opinions.

B) Friends never argue with each other.

C) It generally takes time for people to become close friends.

D) Someone’s habits may annoy his friends.

30. To strengthen friendly relationship, people

A) must hold friendship ceremonies

B) have to eliminate differences in background

C) should make friends with those who are of the same age and of the same race

D) should support and understand each other through shared experiences and emotions

Part [l Vocabulary and Structure (20 minutes)

Directions; There are 30 incomplete sentences in this part . For each sentence there are four choices marked A), B),
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31.

32.

33.

34.

35.

37.

40.

41.

42.

43.

44,

45.

46.

47.

48.

49,

50.

51.

C) and D). Choose the ONE unswer that besi completes the sentence . Then mark the corresponding let-
ter on the Answer Sheet with a single line through the centre.

In America, the lawyers and doctors charge a lot of __ for their services.

A) fines B) pay C) fees D) fares

On this busy road bus drivers ought to be especially careful, __ 7

A) ought it B) oughtn’t they C) oughtn’t it D) don't they

John of his wife’s guilt.

It took us many hours to

A) convince B) persuade C) advice R D) believe

Can you give me a light for my cigarette? 1 have my matches.

A) got out of B) bumt up C) done away with D) run out of

Only when the war was over in 1945 to his hometown.

A) did he return B) he did return C) he returned D) had he returned
36. __ his eyes when she told him that it was time for them to leave.

A) Hardly had he opened B) Scarcely did he open

C) No sooner did he open 1) He had no sooner opened .

Please wait for the next boat. There isn’t __ for you on this one.

A) place B) room C) seat D) comer

. Scientists all over the world are trying to ___ a cure for this kind of {atal disease.
A) discover B) expect C) invent D) make
. We are late. | expect the film _____ by the time we get to the cinema.

A) has started B) will have started C) will start D) may start

If I found thebook, I _ it to you.

A) will bring B) would have brought  C) would bring D) might have brought

1 have finished translating all the documents you assigned tome, ____ .

A) and so she has B) and neither has she C) and so has she D) but she has

But for sunlight, there __ no moonlight.

A) will be B) would be C) had been D) was

In old bookstores, you often come _ the early editions of many valuable books.

A) across B) ahout C) with D)on «

He asked me how many days _ to complete the experiment.

A) it had taken B) had it taken C) would it take D) it was taken

He argued _ having a meeting, because he was too busy these days.

A) to B) with C) against D) on

Many young couples plan to put RMB 1, 0002, 000 every year to finance their children’s future edu-

cation.

A) down B) aside C) up D) on

All flights ___ because of the snowstorm, many passengers could do nothing but take the train.

A) had been canceled B) were canceled C) have been canceled D) having been canceled

The employment ______ in this area is getting worse and worse.

A) problem B) question C) issue D) case

___ seeing the damage he had done, he felt ashamed.

A) By B) On C) At D) For

It was in 1979 _ China began its economic and political reforms.

A) that B) when C) which D) and

He _ a bus slowing down before the stop.

A) caught hold of B) caught sight of C) caught at D) caught on
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52. There are more and more customers who like to ___ abour »rices when buying goods.

A) debate 3) consult C) dispute D) bargain
53. Two were killed in the earthquake. One was an old woman and _ was a little boy.

A) another B) the another ) any othes 13) the oth.r
54. I hope that you'll be more careful in 1yping the letter. Don’t _____ anvthing.

A) lack B) withdraw C) omit D) leak
55. It is high time you ______ that you are not the most important person in the world.

A) realized B) have realized C) realizes R D) will realize
56. These two areas are similar _ they both have a high rainfall during this season.

A) to that B) besides that () in that D)) except that
57. According to the relevant statistical analysis, about 20% of the television _______ watch the CCTV news report

in China.

A) spectators B) viewers () audience 1)) lookers-on
58. If he hadn’t stood under the ladder 1o catch you when vou fell, you ___ here now.

A) wouldn’t be smiling  B) won’t smile () couldn’t have smiled D) dida't smile

59. We will visit Huangshan next year _ we have enough moncy.

A) lest B) unul C) unless 1) provided
60. The older worker and the young each their own tols.
A) have B) has () are having D) is having
Part [V Short Answer Questions (15 minutes)

Directions; In this part there is a short passuge with five questions or incomplete statements. Read the pussage care-
fully. Then answer the questions or complete the statements in the fewest possible words (not exceeding
10 words ).

It is all very well to blame traffic jams, the cost of petrol and the quick pace of modern life. ™ ut manners on the
roads are becoming horrible. Everybody knows that the nicest men become monsters behind the wheel. It is all very
well, again, to have a tiger in the tank, but to have one in the driver’s seat is another matter aliogether. You might
tolerate the odd road-hog(# M B # i 7] #1) , the rude and inconsiderate driver, but nowadays the well-mannered
motorist is the exception to the rule. Perhaps, the situation calls for a “Be Kind 1o Other Drivers campaign, other-
wise it may get completely out of hand.

Road politeness is not only good manners, but good sense too. It takes the most cool-headed and good-tempered
drivers to resist the temptation to revenge when subjected to uncivilized behavior. On the other hand, a little polite-
ness goes a long way towards relieving the tensions of motoring. A [riendly nod or wave of acknowledgment in re-
sponse to an act of politeness helps to create an atmosphere of goodwill and tolerance so necessary in modern traffic
conditions. But such acknowledgments of politeness are all 100 rare today. Many drivers nowadays don’t even seem
able to recognize politeness when they see it.

However, misplaced politeness can also be dangerous. Tvpical examples are the driver who brakes violently to
allow a car to emerge from a side street at some hazard to {ollowing tralfic, when a few seconds later the road would
be clear anyway; or the man who waves a child across a zebra crossing into the path off oncoming vehicles that may
be unable to stop in time. The same goes for cncouraging old ladics to cross the road wherever and whenever they
care to. It always amazes me that the highways are not covered with the dead bodies of these grannies. A veteran
driver, whose manners are faultless, told me it would help if motorists learnt 1o filter correctly into traffic streams one
at a time without causing the total blockages that give rise to roadsmanship. Years ago the experts warned us that the
car-ownership explosion could demand a lot more give-and-take( B #3# il ) from all road users. It is high time for all
of us to take this message to heart.

71. According to this passage, troubles on the road are primarily caused by
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72.

73.

74.

75.

What does the sentence “. . . the well-mannered motorist is the exception to the rule” ( Line 4 -5, Para. 1) im-
ply?

What does “good sense” mean according to the passage?

»

What did the experts point out in face of car-ownership explosion?

What's the author’s opinion towards drivers’ manners?

Part V Writing (30 minutes)
Directions; For this part, you are allowed 30 minutes to write a letter to apply for a post as part-time secretary.

You are required to state your qualifications in your letters.
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